KAIST

x| 0jE >

E

7l&8 Ncs 7|

5

}

) ®
e i o ¢
ultx_a =T Oo_.._l
=| W M _u..Anmu
u_u:mu H| m_m_m
0 al
£ K
o N~ =
PUNE Ty or = =
H_I EN mﬁ _._|.I K
o 1 oF <d o
— w| fo — R
KM | &M _|._w__= ol __ dor
W ™ - o B RO
= | [ ol = N <1 © =
“_Mu . 8 ._o_| - L|._UOM
bS5 = i =AW E
o K = KO 0 —
i = | e )
= S o
N Tl o~ %._.Wl ok S M
[ J__._u o or ™ ol H =
S lm g Nt G 2 ™ i s
&1 AN K T O = Kl = 5
o | | & = W5 ot W 0 4 5
R & = & 0 U = T 2
| = ! E KT o1 ob < - K
= ol N & Tl op o 2 il = N
K - < | - o ol < 1l
R} mr t+ Bl mro—= - (@) =< Poxl 1 = =2 < o
=q — oo Bl | Hr 1 - £ LM 2 K IH ~ K o ==
o o_o|ﬂ+?+ﬂ=+§9m = i o 7 U R A = —
A H wﬂ%ﬁiu TR m = of ko o = WO X .- H =
< o1 ol K0 51 00 S0 oK oF ol = T = I T X {0 - X fol — Y
o | X ol ko & = ou mr o ok o T 70 ®0 op W T g -
0 BRI = iy 80 op B _ N W <F Lk w| © - M ) <
oF | D = | e T 5 o R R o3 RN S TE ° KB
. MW - oj >3 x5 = <N oF i XEK = = ©l T _
= .rB.rmﬂ__dMuwx.lu O = oF wmu;AHAmem_nyr,ﬂnWAﬂ 0lo
= = TR T 2o an%x & &0 ok ., DU T g U EESEK olo
e R R E_mmﬂ%mf 0o 1 31K &_ﬂulgﬂhc_oﬁﬁmutw%%oﬂo_ i
i = — =0 | od c - ol ™ T — I IaoHﬂLHm_Llﬂ O
TH A_EOWI_:.A_ER%J ﬂol_ﬂu,m ﬁ_u_.moﬂ @%Me|%ﬁﬁtﬁ,xlza%m|w;,m_ux£ =
= ﬂm__mﬁm_ﬂt;lnﬁfewm_m = ol oF O mﬁﬁnxﬂmﬁﬂmﬁol_uumilﬂmﬂ Y
W, o RS Houﬂe_m:e%u ﬁ__/ﬁm_ol_f. mﬁ_nnemm ﬁﬂuﬂﬁ@ﬂ%ﬁéﬂﬂ%mﬂnﬁn%ﬂWIA,
1s ﬂmﬂu%ﬂm_k& LR e 135 H@@%M%@@R%@WJH_EOEMM
T (F G2 5eb Gdom Ao IR I
R i - 2 T o OTAMm_:ﬁamiieA_M_mjeawwmm
o ™ O 0lssSoR 00 H M+ N X m_HHHMAﬂu|x_. T RN
) SC ~ X0 0 0 X ~ I~ ™~ =0 X RN
0000|000 oF oF &I Bl %%OITAIoAIomm:._,T:.MoquoM_ﬁo/x//
- Ol 00O o_.o_.Amnmnd_lolllAIEJI
o |0 oF C T or = 0N K
e} g ©OO0O0 s K-
i = 3l o OOOOO_____OT_A__._.
o ul v = o OF O 0O
R 0 Mmﬂ 0 P! i
0 5o i &2 T
wj| O- = =
K of
el




KAIST

O ZIEf S0 ALY 23 3|9,

O M A|AHIIX|L|O{2 2O — = -
- AA"” @7E 2A7|E, 4 22O 28 S8 FTUARHE 24 75, "M 24 7=
- M AT HASHA 7|§, 71E fl 24 A 2 Js HAES R EE Vs
- 8 FRAAE” A 7| 8A HE R AR A Tls, Hx Mol siM, A Y=
- Al 2ot 2ME 2T sw 28 Tl sw H Hw EA 7=

D97a O *I8 XMl/H= Mol 7=

O ™7/ ©xt BA J1=

O TZ /714 &4 % 84 7|=

O #d dE AL =3 A 24 59

O M7 AEXZ, 7|28M, 21N, I HEXIZ 2Y &3

O Y9F 38k0 mE XHAHE X -2 =3

O M| 2|5 gt 9F #2jMS ZEHE 5) U AIRXSet Z2O3 28 X[4

O ZH &=

| D ASEf S O 9T&e &

O s&& XM B =T 9JX]|

O A =2|H-ZLXe 24 Bl

O g3%F 7IA, Mo, ©7|, dx}, e, 84 5 sty

AYU7|ESE | O MAL 0|2 =9 AX[Xt
O ozHdH : TOEIC 7007, TOEFL(iBT) 807, TEPS 2657, G-TELP 647 (Level 2), FLEX 61578 0|4t
PO www.ncs.go.kr, www.kaist.ac.kr




KAIST

7|19 NCS 7|

F

}

2

oill

od

Kir
oF

ol MIAl 1091 chst

172

Of &l 7]

=
—

2t
za

O AT AB L 2SS o

rin

=13
=
|2l S Atz

2

=13
=

47t 71& AT N

o
A
A dE

1L

=
[

=x

12| 7l= 7N
=]

b

= CHLHQ)

M, ETM

2| & X[F, 7= ' =AL
prl

At
2|
3|

—

F
O F7HE AEA

Challenge, Creativity, Caring
AN TlE W BA/

o SlBL Na| 7le Y

O 3C Spirit :
O =7t /g 7h

-

uo
ud
nr
oK

o
KH

g
=
H
o
|
Ml
=
[
=
11
Al 2
Iy
_L_I
— Bl
mo
ol
mE|
IH| KO
Klo| =0
oF
oK
I
g
<0
wE| 80
1
2 o
oF
%ﬁ
_”._o
=
=
mE
I
. OK
X0 4 M~
&k T %o 8
or uo @ %o
N0 X0 of W
0 35 OF o
o)

ME=

KAIST

Mzlo|y

= -

Al
Al
Ol

VS

F

X

35, 21’9 HoIE M| x|
S te|of cst

- AHBARIE M2 K|
O 7lEt 37f




KAIST

O E<pld BdxE 2ok
- 2ZEQ0 A SM/8A/702/AME 71E
- Z224Y AO{(MATLAB, Python, C, C++, C# §) B8 7|&
- GHXE|, YA BH ATEQ0 HE I
- i HIEQS, HIo[E] AJAR Ql=a 3 S AI™E JIE
O Y4™e =237 ot

2Rl|= - QEAA HEd Z2IeY 5
- S4B Y, AATAL Ho[E X2| 7|=
- FEBHKE 48 sw AR TIE
O & HE ZAL 3 Y BN 58
O 2A ZEXZ 7|2M, BN, 3 LEAE Ay &Y
O g% 32&0 M2 Xt W - s
O M H2|E QIBt LY F2|(MS Z2HE §) Gl MEXEe T2 28 X|4
O oH &=+
x| D ASE S O g7ge &
O a5 XA & =X QX
O 2 =2|8-ZeEl 24 B
O &3LF 7|4, Mo, ©7|, X, g5, &4 & st
AYU7|ESE| O MAL 0|2 =9 AX[Xt
O Ofshd™ : TOEIC 7007, TOEFL(BT) 807, TEPS 2658, G-TELP 64%(Level 2), FLEX 6158 O|4t

www.ncs.go.kr, www.kaist.ac.kr




